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Show your working clearly in the space provided for each question and write your 
answers in the spaces provided. 
 
   

6. Let cost of 1 can of drink = u 

 2u + 3 = 
3
5  of money    (1) 

 2u + 1 = 
2
5  of money    (2) 

 
1
5  of money = 2     (1) – (2) 

 Total amount of money = 2 x 5 = $10 

 

 2u + 1 = 
2
5  x 10 = 4 

 u = $1.50 = cost of 1 can of drink 

  

Ans:  $1.50 

 

 

7. Ratio of volume of milk in Glass A to that of Glass B = 1 : 5  3u : 15u 

 Ratio of volume of milk in Glass B to that of Glass C = 3 : 2  15u : 10u 

 Ratio of volume of milk in Glass A to Glass B to Glass C = 3u : 15u : 10u 

 3u  + 15u + 10u = 980 

 28u = 980 

 u = 980 ÷ 28 = 35 

 

 Volume of milk in Glass A = 3u = 3 x 35 = 105 mℓ 

  

   

 

Ans:  105 mℓ 
. 
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8. a) 

 50% of 60%  30% 

 Therefore bag is more expensive 

 b) 
 Cost of 3 bags as a percentage of Raju’s money = 40 x 3 = 120% 
 Sandy’s total money as a percentage of Raju’s money = 200% 
 
 Percentage of Sandy’s remainder money = (200-120) ÷ 200 x 100= 40% 
 
 
 
 
 
 
 
 
 

Ans:  (a)  bag 
 (b)  40% 

 

 

9. a) 

 Number of bags of flour = 
6
7  ÷ 

1
9  = 

6
7  x 9 = 

54
7   = 7 remainder 

5
7  ≈ 7 

 

 b) remainder = 
6
7  - 

7
9  = 

54
 63  - 

49
63  = 

5
63 kg 

  

 

 

 

 

 

 

Ans:   (a)  7 

 (b)  
5
63

 kg 
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10. a) 

 Volume of solid = 9 x 4 x 4 x 4 = 576 cm3 

 b) 

 7 cubes have at least 3 sides painted 

 c) 

  

         Ans:  (a)  576 cm3 

          (b)  7 

          (c)  see figure 
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11. a) 

 Number of triangle shaded = 6 

 Total number of triangles = 16 

 Fraction of shaded area in figure 1 = 
6
16  = 

3
8  

 b) 

 Area of 1 triangle in shaded area = 24 ÷ 6 = 4 cm2 

 Area of 16 triangles = area of figure 1 = 4 x 16 = 64 cm2 = 8 x 8  

 Length of 1 side of figure 1 = 8 cm 

 c) 

  

 

 d) 

 Perimeter of net = 14 x 8 = 112 cm 

Ans:  (a)  
3
8
  

 (b)  8 cm 

 (c)  see figure 

 (d)  112 cm 
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12. a) 

Number of spoons sold = 85 

 Number of knives sold = 55 

 Difference between spoons and knives = 85 – 55 = 30 

 b) 

 Total sales amount = 1.4 x 85 + 2.5 x 60 + 4.1 x 55 = 119 + 150 + 225.5 = 

$494.50 

 Total number of cutlery = 85 + 60 + 55 = 200 

 Average amount per cutlery = 494.50 ÷ 200 = 2.47 ≈ $2 

 

Ans:   (a)  30 

 (b)  $2 

 
 

 

13. a) 

 Trapezium is PQRS 

 b) 

 △ROQ = △OPQ = equilateral triangles 

 ∠ROP = 60 x 2 = 120° 

 ∠ROS = 180 – 120 = 60° 

 ∠ROT = 90 + 60 = 150° 

 ∠RTO = 
1
2  x (180 – 150) = 15° 

 ∠RTS = 45 – 15 = 30° 

 

   

 

 

Ans:   (a)  PQRS 

 (b)  30° 
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14. a) 

 Percentage discount of buns = 1 ÷ 5 = 20% 

 b) 

 Ratio of cost of 1 muffin to cost of 1 cookie = 1 : 2 

 1 cookie can buy 2 muffins 

 30 cookies can buy 60 muffins 

 
1
3 of 120 muffins  40 muffins can buy 10 buns  10 buns 

 4 muffins can buy 1 bun 

 50% of money  10 buns + 120 muffins + 30 cookies 

  40 muffins + 120 muffins + 60 muffins 

 220 muffins 

  220 ÷ 4  55 buns  

 1 free bun for every 5 buns 

 No of free buns = 55 ÷ 5 = 11 

 

         Ans:  (a)  20% 

(b)  11 buns 

 

 

15. a) 

 Side of triangle = 18 ÷ 3 = 6 m 

Perimeter of figure = 6 x 2 x 6 = 72 m 

b) 

 Shaded area = area of 6 triangles – area of 1 triangle = area of 5 trianges = 60y 

 Area of 1 triangle = 60y ÷ 5 = 12y 

 Area of figure = 60y + 7 x 12y = 144y 

        Ans: (a)  72m 
         (b)  144y m2 
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16. a) 

 Area of 1 circular board = π x 
90
6  x 

90
6   = 225π = 225 x 3.14 = 706.5 cm2 

 b) 

 Number of circular board that can be cut from the length = 
220
30   ≈ 7  

 Total number of circular board = 7 x 3 x 4 + 3 x 3 = 93 

             

         Ans:  (a)   706.5 cm2 

          (b)   93 
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17. a) 

 12 

 b) 

 36 

 c) 

 Let figure number = n 

Number of rods used for even figures = 9 + (n-2) x 4 

Number of rods used for figure 30 = 9 + 28 x 4 = 121  

   

Ans:  (a)  12 

 (b)  36 

 (c)  121 

 


